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Units of radiation dosimetery 

  
  
  
  
  
  
  
  
7 –1   �����  

 ���� ��� 	
���
�� �� 	
����� �������� �� 	
�� ���� ���
 �������
 	 �� ���!�" ������ ��# �������� $%& 	'�� (���� �� .  ����

 	

�� �������� 	*����*)������ ��
" ��* ( -.��� /" ��0� ������
 	 ��
 	1����� 	'���� $%& ��.* 2
�� ������ 3�  3�
��2"    ��� 4����� �
5*�

3� ��6 ���
 	 �� ��*�"7� 	�*�8 .9�% -��6  ��������* ������ :


	
���
��� 	
�����6 �&���1� �� ����*;�* ��
��.� -
���
 9�%*� . ���

������ ��* :
� /" 	�
<��� ������=� 	*����*	

�� ��  6>/���� ��� 
 ���'�� �&��"� 2
�� ������ 3�  >���5� ��� 	
����� ������� ��0� 9�%�

3� �� 2" ��� ���� 4���� ���
!  �

?� >
�� �� .  3��  @��� ���"
 ���  ������# �� 	
�
��� �������� �� 	
��� �������   ���
�� �� ��

��* :

 ; 7�A" 	
����� 67�

 2" �� ���! �������
.  
  

        %�69�  ����� 	

�� �������� 	
�'�� 7�A"–  ������ ��
" ��*–  ��
  �����
�� �
�
�� �&�� � �� C���� D 
 	�
<��� ������=� @�����
   ���
" �� �� �� ����
 2��� ����E� -
�  2" 	
������ ����
����� .
 �
�� :�
�� 	��5����� ���
��� ��� C�����* (1.�� �%& F�5
��� 

 ��������)	
������ ��
������ (	
������ ���� ���.  
  

����
� ���
�  

G 	����–     ��������� >"��� 	�"�8�– 
 @�����–  	
������ 	�� ��–   <"������
��� �
*
�� ������ � – ���8?
  2 ����
*�� �

 ������ 3�  (5��–    	��� �� (���G 
(����� 	����  
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7 �2    
������� ���� ��� !)  �#
������� �
��� ����(  
Radiation flux density ( or fluence rate ) 

  ��& �� 	��� ��� �������� �� 	
����� ���
� �� >"���� 	"�8�
 �&��' 	
��� (/5 ������ ���
� �� ��� �� ���*�1  3��2  )  ���
�

 ��
����� (	����� $%& ��� 	
��8�� 2" .    >"����� 	�"�8� D���
 ���
�
	.��5��� (���E� ��% 	����� ���1��� . ��
H1 ��1��� 3 
 ��� �%A"

   7��A" �&���� >"���� 	"�8� �
�
� D������ 	����� ��
 	"����� 	*����*
 �
��� ��1��� �%& ��*��� ���
) I���	��� (�� 2   H�1 	�
�����
 .(

 (�� J��
�)7G1 (>"���� 	"�8� D��
 	
.
� φ    ���1� ��� K�����
2���  2������ 7����S ���  �� 	���P   	"���� ��*�R    !���� ���

 ��1���S  	"����� $%& ���� L

*� 6R   ���' C1� �� �
8�* �*��
��1���. >"���� 	"�8�"     ���
 ���� !���� 2" ��1��� -��
 �����

 	�����* ��
��P �*� 2&�� ��:   

φ   =   S  / A    (7-1) 

 

 

                   Z 

 

 

                               θ               θ 
                                                   dϕ 
                                                                R                 P 

                 S                                                                               Y 

                                             d θ 
                     φ 
            X 

    

  
  
 (��)7 G1( 

�� >"���� 	"�8� D��
 	
.
� 	��� �P �� 2��� ��1�  
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 L
S  ��1��� ��� )3
�  ��
�*/
��8	 ( 6A  2��� ����� J�� 	
���
 �&��' C1�� �&!��� 2" ��1��� ���
R .	
��� �# L

�   J���

�����  �&��' C1� 2���R 2&:  

A  =  4 π R
2  

 >"���� 	"�8� ����Φφ)* ��
�3
� /3�2.	
��8 (2&:  

φ  =  S / 4 π R
2
    (7-2) 

 >"���� 	"�8� �� I�φ �� ���  -�� �
��� �*���� D����� 	�
�� 	�
��1��� ��� S 	"����� -*�� -� �
���� R 	�
���� 	����� ��
 . �� ��

�� ���
��� ��"� 7�� ��# �������� 	
��
�	
�����  ��
� ��(SI)  �O� >��

J��1� ���
� �� >"�� 	"�8� ��� �& �
�  " �� ���
� �� 	��
� (���

������.��".  
          

 C����2����� -
*���� �����* ��
5E� 	'/��� $%&  	��
� (����
 ���
� ��)�� >"���� 	"�8�� (2��� ��1� ��.  

  
         �� 
# ���
����
� �� 	��
� (���   ��% ����1��� �� 	 �����


��� �� �
��� ������� ���1���� 	.��5��� (���E��
 �� 
 ��.  
  

        ��� ��1
 ��

E� �� �
8� 2"�     ��� 	�.��5� ������� ���1
��������6 �� ��1
 �� ������# :.�  	�.��5� ��'��* ���� Q���� .

%����6 � D 
	��
� (��� �

� )>"�� 	"�8� (�� ���
� ��   ���������
	.��5��� Q���R� .    >"��� 	�"�8�* C���
 �5S J��1� 3�5��
 ���

��

 	'����(energy flux density) .'���� >"�� 	"�8� C���� 	
�� ���� ��� 	
	
��8�� 2" ��
����� ��
� (/5 ������ 	'����  ���
����   ������  	����

��	�
�� .	'���� >"�� 	"�8� �
�
���6      >"��� 	�"�8� 	�"��� D� 
 7�A"
'��� ������������ .�������� $%�� ��� �%A" ����� :.�    	�'����E 

 	'���� >"�� 	"�8� ����Φ  2&�� ���*�:   

Φ = E φ    (7-3) 

   >"��� 	�"�8� �
�
� ���
 7�A" ���
� �� 	'�� C/�5� ��� ���
2�O�� 	'����:  
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                         Emax 

Φ   =     ∫    φ dE      (7-4)    

                         
0 

�� J��1��� �� ��# ������ �� ��� 	"�8�� �
� �� 2������ I��
�
 	'���� >"�� J*1���
� (��� �& 	'���� 	 (Energy fluence rate).   

  
7 �3   %���
�     The exposure 

    3��� ��&��
� 6�
����.� ��� (�
� @����� J��1� 3�5��

2��
!
" �5O�� . ��� 	�;��� @����� J��1� 3�5��
 63���� 3��.���*�

	�
<��� ������=� @����� .  ��
 ��5 @����� ���
 �' 3��.��� �%�*�
(external exposure)  63�� �� T��5 �� �� -�� ��1� �� � ��� I� 6

 �
�5�� ���
 �'�(internal)    (�5�� 	���� ����� (�5��� �� � ��� I� 6
3� �� . 2�����* @����� C1�
 �' 6��
� 3��.��� �%�*�(occupational) 

   �� 6	��
<��� ���������* (���� ������
 �
%�� F�5�E� @��� I�
 2*���*(medical exposure)  6   F
5��� C���* ������ @��� I�

�� /� �� 3������ . I�����* @����� C1�
 �' 69�%�(normal)  �&�
    �������� ����1��� 	�
����� (
H���� C��0 2" L�

 I%�� @�����

 ������* C1�
 �� ���
 ��� 6	�����(potential exposure)  @����� I�
	
����# L���
 C��0 �� K��
 �' I%�� . �� /�"� C1�
 �' 69�%

 ��
��* @�����(acute exposure)   	�
�� Q��
 I%�� @����� 9�% �&�
 ��
1' 	
��! ���" (/5 @������ 2" �������� �� 	���& ) �� >��'�

	�
�' 3�
� ��
 �� �����(   ��!����* C�1�
 �'� 6(chronic exposure) 
(/5 ���� Q����� �� 	�
�' ��
�� Q��
 I%�� @����� 9�% �&�  ���"

 	�
�� 	
��!)�

����� �
������ @��� (8� ����� ���� ����.(  
  
     ��������� 	�
�� 7�* �1�
" @����� 2��
!
.�� 3��.��� ���

 62
�� ������ 	 ��� �� 4���� �� K
�� �� ��� �&�*��
 2��� 	�
<���
(�� 7��  ��� @���
 �� ."    �������=� 	�

�� ��
/5�� @��� ���

$%& F��� 	�
<��� �������� $%& ����
� 2��� 	'���� �� �4!  �
/5��6 
���� 	'���� ��*�� .  I�<�� 2��� 2& �
/5�� (5�� 	1����� 	'���� $%&�

��.�� ��# .  6@������ >
'��� 25
����� C
����� �� ��# ������ �� ��
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     �� 	
�
���� 	���R� C�� �� 4������ @��� �& 62��
!
.�� 3��.���*
.5�� ���  ������# 	'���� 	�) ��
3   ����" �������# �H
� (  ����

����
�� 	 ��� I� �� �H��� 	
��
���� C��0��.   
  

          3��  ���� @���
 2��� �������� 	
�� :�
�� 	�
�� D����
 2
�� ������ ) @����� I� ( �
?� �� 	 ����� 	
*����� 	�
��� :�
' 2&

4����� C��0�� $%& 2" .%�69� *��� ��� >.�� ��" ���*� �& @����� ��
   2�" ����  ������# �� 	
�
��� �������� �� 	 ����� �
?��� 	
�� ��

 3� 
�� ��
� ) I�1  3�3  (4����� �� C� ��   	�
� �� C��0�� ���
��� 	
��
� )   $������ �H�� ���� U3 �.1 ����
 	 �� ��� I�760 

 >*�! ���
���.(  
  

 %���
� ���� &���– '��(��
�   (R) Roentgen   

           � ��
����* C���� ��
�* @����� :��
(Roentgen)   ���
�5�
	
�
��� 	��E� C���� I%�� 3����� V��%�. $%& 3�5����   :��
�� ��
���

(���� 2��� 	
������ 	'���� ����� �� ���
��� 	
���� ��  	
�
��� 	��E�
	�.5���� 	'���� ��% ���  ������# ��.  

  
   �
��� C
��� 3� �'�� � ( R )  6   	�
�� 7��� ��� ��E� (�� 2"

 	
�
��� �������� ) @����� I� ( 	
��*��� 	�
� T���# ��# I�<� 2���
 ) 	* �� �� 	*��� ( 	
�
�������� ��
�� ��
� �&�����(1 esu) 3�� 2"3 

C��0�� ��� C� �� 4����� �� 	
� �� ���	
��
��� I� 6:  

1 R = 1 esu / cm
3
air   (7-5) 

L

� �� C��0�� ��� 4����� 	"�� �#�	
��
�   2�&0.001293 
3 /3�3 6   	��*��� 	
�
����������� ��
��� ���  ���
�*  3�������  C 

	'/���*:  

1 esu = 1 / (3 x 10
9
)
 
 Coulomb  (7-6) 
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� ��
��� C
��� J*1� ��" R  �� ����
��� 3�0�� ��*��  	�
��
�
 	
�����(SI)  �&:  

1 R  =  1x (1 /3x10
9
)   ÷  0.001293 

        =  2.58 x 10 
-7

     Coulomb/gram 

�� I�:  

1 R  = 2.58  X  10
-4

  Coulomb/kg (7-7)
 

     	�
�� T����# ���# I�<�
 I%�� @����� �& � ��
��� �� I�
*�����	
 	*��� �� 	* ��  �&�����2.58  x10

G4  2" 3���� (� �   3� �
C��0�� ��� C� �� 4����� �� 	
� �� ��� 	�
��
� .
�  L�
�  	�
�� �

 ��
E� �� ��������I���� 1.6 x 10G19  3����    �� 2���
 �%�& �A"
	
��
E� 	
�������� T��!E� �� ���� K��
 �
���� � ��
��� n $�����:  

n  =  2.58 x 10
 –4 

/ 1.6 x 10
 –19

 

    =  1.61 x 10
 15 

         electron-ion pairs / kg air 

 3�� ��
� (� 2" 4����� ���� C��0�� 2" C� ���	
��
� .  
  

 2������# T�! T���� 	�!/�� 	'���� �� L

�–   ��
�� 2��
�
 2���
 2& C� �� 4����� 2"34 #.C 2" Q��� 2��� 	'���� 	
�� ���� 6
2& �
�� T�! �
���� 4����� :  

ε = 34 x 1.6 x 10
 –19

  

   = 5.44 x 10
 –18

     Joules 

9�%*6 �� (� ��* 	'���� ����	�����  �������� ��   3� � ���#
 �����* @��� 	 
�� C� �� 4����� �� �
��1  ��
�� 2&:  

 E  =  ε x n  

     =  5.44 x 10
 –18

 x  1.61 x 10
15  

     
 = 0.00876           ( joules/ kg) 

         @�* 2" 	��5��� ���!�� � ��
��� ��
� �� �� 3W��� ����
��

E�6  ��
��� �� ;#   ����E 	�
"�� ��
� ;  >�*��� V���   ����
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 ���  ������#� 	
�
��� ��������	�.5��    2�" ��&���� ��� 	'����
C� �� 4����� $�
W ��� .  

  
 	

�� ��������� ������ 3�  	
�'� �& :
���� C���� ��� ����

	�
<��� �������� �� V�5E�6   2�" 	'���� F�1��� C/�5; ��0��
2" 7�� 3� �� 	 ���   ��� 
# D 
 7�A" 64�����    (��
� 2���� 	�'/���

 @�����)C� �� 4����� @��� I� (E� @��� �� 7�"��
 �� ��# 	 ��
	
��*��.   @���� �� I��*�� 3� �� 2" 	1����� 	'���� �� � � �'�
 $�����1  2& � ��
�0.0096 (� /3 � .%�    	� �
�� ���� 7��A" 69�

=� 	��  �� 7�"��
 �� ��# @����� (
�
������ D 
  	*���� %5<� ��
 )0.0096  :0.00876 (��*�
�� 2".   
  
7 �4   �����
� �������� ����
�  

The radiation absorbed dose 

 ������#� 	
�
��� 	��E� ��� �1�' @����� 3��.� �E ��0�
     	�'�� 	�
�# (����� ����� C� �� 4����� ���� 	'���� 	�.5�� ��� 

���� �� � 3W�� 6��������    ���# 4������ 	����� 	'�� �� (
�
� (
  ��*�� ��
�  	
��
!
" 	
�� 3��5��� 3� ��" 6I��*�� 3� �� 	����� 	'��
    6�����'�� -�
�  ����� �������� Q���� -
�  �� 	'���� (����� ��

�������� $%�� 	������� ������ Q���� -
� �� . ��
� �� 	
���� C����
	1����� 	
������ 	�� �� 3��* .  

  
�   ��� (����� 2��� 	'���� 	
�� �� ���*� 2& 	1����� 	�� ��

��������  	�
<����
���� 3� ��  .�� �%& 3�5��
�� Q���� -
� � J��1
������� 3�� E� -
� �� ��'����� �������� .  (�� 2�" ���5��� ����

��
� ��E� 	1����� 	�� �� :�
��  �����* C���(Radiation absorbed 

dose- rad).  
  
7�4�1   ���
� 
 �����
� &���
�� ���� �����
� ����
 The  rad 
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         7�� ��� ����� C��
 �&����� 	'���� �� 	
�� (����� �� ���*�
100 �#X  (��3��  	1����� ������ ��6  ���
" �������� ���� ��� 6
�� I�:  

 1  rad  =  100  erg /1 gm matter (7-8) 

 L

���     : 1  T�# =10
G7 (� 6 �A":  

1 rad  =  100 x 10
 –7

 / 10
 –3

 

            =   0.01       joule / kg 

  
7�4�2  
�)*��  +� �����
� ����
� &���
�,�-( *�����
�   

The Gray (Gy) 

�� ���
��� 3�0�� ��*�� 	
����� 	
��
�(SI)   ���
� ���5��� ��"
 2& 	1����� 	�� �� :�
�� ��
� W I��(Gray - Gy)   3������ ��# 	*��

 2��
!
.��W  :��
�� 	�
'��� 	
����� >���� � �� �� (�� ��� I%�� I��
	1����� 	�� �� .���H& I���    �&������ 	�1����� 	'���� �� 	�� 

������ �� 3H� (�� (�  �
�� 6�� I�: 1  I��  =1 �� 3H� (�� (� 
 ������  

 1  Gy  =  100 rad   (7-9) 

 
7 �5   � .��!�
����
�� '��(��
� '�  

 :�
' �!� � K
���  3�
 ��

E� 30�� 2" 7�� ��# ������ �� �
� ��
��� ���
�* ���� ��6   @������ :��
' @�H* 9�%� . 9�%��6 

����� ���
�* 	����� ���� �� (���  �� �
���� �� 0
/
 . 9�%��6 
   �/
��
��� 4��� � �
��
��� �
��& �
* <"����� ��'/� 	"��� D 


/�� �� �����* 	1����� 	�� �� 	�
' ��# � ��
���* !�� �� �4��' �� 	�!
��HI��.  

         
 	1��� 	��  Z"��
 � ��
� �
�� $����� ����� �� ����% �'�

 �&�����0.00876 (� /4����� �� 3H�6  Z"��
 ��0.0096 (� /  3�H�



  223

������ 3�  �� . �& ����� ��� ����0.01 (� /������ �� 3H�6  ��A" 7
�� 0
/
:  

1  /��!� 0��1
� +� '��(��0.876  ��� =0.00876 3*��  

   1  /��!� '��(�� +� '��(��0.96  ��� =0.0096 3*��  

 $����� ����� �� ��
5E� 	'/��� �
*��1  	*����* Z"��
 � ��
�
 ������ 3� �1 �*
��� ��� .���� D 
   �� 2�" %�5<
 �� ��*��
  ��

* ����� ��
 �' � ��
������  ������#� 	
�
��� ������=� 	*����6  ���
�������� Q���� -
�  (��
" �����.  

  
7 �6    +��
���
� �� 4�
�56� '��(�� ,��  

Biological effects on the human body 

�� �
*� ���  2 ���
*�� �
8?������ ������ 3� 6 � K����� :.� �
����� 	1����� 	�� �� �
�� �"/�5� C��5
� �������� Q�� C/�5�* .

 �&����� 	��  �� K����� 2 ���
*�� �
8?��� �� 0
/
 /8�"1  �W I��
)100 ��� ( ���� �����* �*�� 	�
���� �������
��� ���
  ����   ���

E� �� ���.� 	�� �� �� K����� �
8?���	��  	
�
���.%�69�    D� 
 7��A"
2*���� 2 ���
*�� �
8?���* ���
 �� 	"���.  

  
7�6�1   +��(
� +��
���
� �� 4�
�  (RBE)   

          ���� ���  ������# �� 	1����� 	�� �� 	*�� �� ���*� �&
	�
�� 	'��6    ��������� ��� �5S Q�� I� �� 	1����� 	�� �� ��#

����� :.� 2" ��
�� ����� 2 ���
*�� �
8?��� ���
 L

* . (
*� ���"
�  �� K����� �
8?��� ��� �%# 6(�8��� �&����� 	�0.2 W I�� )20 ��� (

   ��� K������ �
8?��� ����� (���
 �� ��� 2" 	�
�*�� �������
��� ��
 �&����� 	�� 1.0 W I��)100 ��� (  	�'���� ��� ���  ������# ��
 ���
 	�
���� ������ �� �
8?��   2*����� 2 ����
*��Relative biological 

effectiveness  ( RBE) &�:   

RBE = 
 
 1/ 0.2  = 5 
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 �� I����
8?� 2 ���
*�� � ���� :�5 V�'� 	�
�*�� �������
��
����� :.� ��� ���  ������# �
8?� ��.  

  
          ����'�� C/�5�* ������=� 2*���� 2 ���
*�� �
8?��� C��5
�

���� K����� 2 ���
*�� C���� 	 ��� Q�� C/�5�*�6   C/�5��* 9�%��
����� �� K
���� Q�� .%�69�  	
������ 	
�'��� @��WE 7�A"���5��� 

 2����� 2"V�5� 	
��  	
����� (���� 3��* �"��(The quality factor 

Q) �� �� ;�*?�8
2*���� 2 ���
*�� � RBE.   ���
� �� 	
���� $%& �# ;#
 3�� %�� L�
� 	
��* ���*���1991  6 3 3��* C�����(���   J �����

)2�!��� �� ( Q���=��4����3      	
���1
��� 	�
��
!
.�� 3
&��.��� -��
	
���E�.  

   
7�6�2    
� ����
�7��� 8���9
 WR  

The radiation weighting factor 

         ������ 	
�'��� 	
����� 	� ��� �1�� 	
(ICRP)    ������� 2�"
 3�� �
��
 2" ����1�� ��
5E�1991 36    (������ J���1� 3��5���*

 J ���� )��2�!���(  Q���=�WR    3�5������ 	�
����� (���� �� ;�*
��*��6    	�
 ���
*�� ���
8?���� ����� 7�?* 	
����� (���� �*��� L



  (�� �� ���
� ��� 2" �������� �8<� ����� 7�� 3� �� ��� 	
*����
K
�� �� ��� .�� (����� ���J ��     ��*��
�� 2�" %�5� ��" Q���=�

(��� 2" 	������� 	1����� 	�� �� K
���� �� ����� .  (���  �
*
�
)7G1 (�� (����� 3
'J ��  Q���=�WR �� @�*  ���'�� ��� �������

	.��5�.  

(�� )7G1(  
 �� 3
'���� (�J ��  Q���=�WR 	.��5��� ��'����� ������=�  

� (����� 	�
'J ��� 
 Q���=�WR 

 Q������'��� �������� 

1  
1  
  


�
��� 	��E� ���  	���� 	 )��'���� -
� (  
����
���� ����������)��'���� -
� (  

�������
���:  
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5  
10  
20  
10  
5  
10  
20 

 G  �� ('� 	'��*10 9.#.C  
 G  �� 	'��*10  ��
100 9.#.C  
 G  �� 	'��*100  ��
2000 9.#.C  
 G  �� 	'��*2  ��
�20 3.#.C  
 G  �� �*�� 	'��* �������
�20 3.#.C  

 �������*��)������� C/5*(�
 	'��* �23.#.C.  
 ������ �
�0�� �.�� ���
� ���V �
�8	 

  
7 �6 �2 :��(
� �# �;�6
 �<��!�
� ����
� HT  

The tissue equivalent dose 

�� (����� 3��5��� -�J ��  Q���=�WR  	
����� (���� �� ;�*
Q 6  	�� �� J��1� 3��5���* 	
������ 	
�'��� 	
����� 	� ��� �1��


���� �� ����� 	�"����� K(The equivalent dose in tissue or organ)  ;�*
 ����=� 	�� �� Z"��� ��(Dose equivalent man) ��*�� 3�5�����.  

            
 	�"����� 	�� �� ��
��HT ����  K
�� ��T   3�� �� 	 ��� ��

	
����� 	'/��� �� I��*��:  

HT =  ∑ WR D TR            (7-10) 
                                 R 

L

: DTR  �������� �� �
���� Q���� �� 	1����� 	�� ��R 
 �
���� ����� �� K
���� 2"T  . K
���� 2" 	�"����� ���� �� -�  3�
�

 	
���� 	�"����� 	�� �� ��� (�1
�� 	.��5��� �������� �� �
����"2 
 K
���� �%&HT .  

  
7�6�4    �<��!�
� ����
� ���� 
����  

         ��� �� �� :���	�"��  3� 2��
�* K
�� �� ��� 2"(rem)   2�"
 3
���� 3�0����� ��
�*  ��.
�(Sievert  Sv) 2" � 3�0���� I��
����2��� .

�� 3�0��� 3��5��� ���"� ���
��� I��
�(SI)    	�1����� 	��� �� :���
��*H�� I(Gy)  ������ 2�" 	�"����� 	�� �� :��� %����� 6  K
����� �� 
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* ��.
� ��
�(Sv).  ��� ��
� 3��5��� ��� ���(rad)  �� 	�
�
����� �
 :�
	1����� 	�� ��6  3� ��
�* 	�"����� 	�� �� :��� %����(rem).  

  
,� &���   Roentgen equivalent man (The rem)  

         �� 	�
���� ��
��� 2&
K
�� 2" 	�"����� 	�� �� :�6  L

 �*�

�� ��� 	�� ��	1�� 
�*��� ��.    3[� ���
�* 	��"����� 	�� �� �����

(rem) �� (����� D�� (1�
 Q�� � 2&J ��   	��� �� 2" Q���=�
 	'/��� ��*� ��� ��
�* 	1�����)7G10(:  

  

���� &���  The Sievert  (Sv)  

          �� 3�0��� 2" 	�"����� 	�� �� :�
' ��
� 2&�  2������ I��
�
���
���6  	�� �� ���� L

  ��
*���� 3�
 ����� ��.
� ��
�* 	�"�����

 	'/��� 2" 	1����� 	�� �� ��)7G10 ( ��
�*W I��(Gy).  
  

 �� �:  
           ������� V�
# 2"����� ����     ��*�5� 2�" �
������� �
�

	
����� ���� �� I���: 0.02 WI�� )2 ��� (  	�
���
 �������
�) I�
 �� ('� 	'��*10 9.#.C( 60.05 WI�� )5 ��� ( 	'��* �������
�14 

3.#. C 6 0.8 W�� I )80  ��� ( ����  ������# .   	��� �� D��
�
 �� (����� �%& 2��� 2" 	�"�����	���� 9��.  

  
 ��
�:  

          	'/��� >
*��*)7G10 ( �� (������ �� 
#� J ���   Q����=�
 (��  �� 	8/8�� Q���R�)7G1(6  ��
�* 	1����� 	�� �� �� �
*�����

W�2�O�� ��.
� ��
�* 	�"����� 	�� �� ��� (1
� I�:  
H  = ∑ WR HTR 

 H  = 5 x 0.02 + 10 x 0.05 + 1 x 0.8 

                 = 0.1 + 0.5 + 0.8 

                 =     1.4        (Sv) 
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          �� �� I� (����� 2��� 2" 	�"����� 	�� =1.4 ��.
�  
          

 �� �
*���� ����    ���� (�1
� ��� ���
�* 	1����� 	�� ��
�
����� 2" 	�"����� 	�� �� 3� ��
�* 2�O��:  

H  =  5 x 2 + 10 x 5 + 1 x 80 

                 = 10 + 50 + 80 

                 =  140        (rem) 

           (����� 2��� 2" 	�"����� 	�� �� �� I� =140 3�.  
 �
* 	'/��� 3��5���*�H��I�� ��� ���) 	'/���7G9 ( J��
�  	�'/��� �
2& 3���� ��.
��� �
*:  

1  
���� =100 ,�  

       2&� 	'/��� >*���� (�8��� ��
��� 2���.  
  
7�6�3   � ����
�7���
 �;�
� �# :��(6
  WT  

The tissue weighting factor 

        ���=� 	
������� ���
8?���* 	*�1�� (���
� ����
 Q ) ��������
 	
8����� ���
8?��� �� (Q���=� @������ K
���� �� ����� Q�� ���. 

 	 ����� 	
������� 	*�1=� @���� 	
��*�� 	 ��E�� 4���E� @�*"
   	��"����� 	��� �� ������ I���� ��� �&�
W �� �8�� Q����� ��. 

� D 
 7�A" ���
8?��� $%�* I��*�� 3� �� 	*�1# (���
� D��
��  ��
�

(���
;� �%& 2" 3� �� 	 ���� 4���� �� ��� (� 3���# V��   ����

4���E� $%& 2" ���� �� I���� .     �!� D� 
 7��A" 9��% (�����
 7
�� >��
 F�5 (����* 	
��*�� 4���E�� 	 ��R� 	�"����� ���� ��

� (����� 3��J ���  �� ����� �� K
������(��� � J ���� K
����   The 

tissue weighting factor WT  .  K
����� 2*���� 3����� (����� �%& (8�
�
 ����� ��)�I J ���� K
���� (���( 3� �� 2��� �� ����� 2"6  ��� 

�
* ���� �� ��
��� 3� �� (��� -
��� �� 	� ���� ���
8?��� .  �����*
�5S6    ����
 Q������* :�� �� (��* I��*�� 3� �� -
��� ��� 7�A"
������� (J �� �� (���
� 2" ����� �%& 3���# 	*�� �& ����� �� K
��
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2������� �
8?���* 	*�1�� . (��  �
*
�)7G2 (�� (������ 3
' 	�
 �� 
I��*�� 3� �� 	.��5��� 	 ��R�.  

  
7�6�3    �
���
� ����
� E  

 The effective dose 

    J���1� 3��5����* 	
������� 	
�'��� 	
����� 	� ��� �1��
���.�� 	�� ��	 E   	��� �� Z"��� �&� 7�*' (������� J��1��� �� ;�*

	���.�� .  3�� �� (��� ��� 	
������� ���
8?���* 	���.�� 	�� �� �*����
4���R� 	�"����� ���� �� �!� ��* I��*��6     2�" �������� ���*�

3� �� (��� ��� 2������� �����6  Q�� � 2& 	���.�� 	�� �� �� I�
��� 	�� �� D�� (1�
   (������ 	��
' 2" ��� �� K
�� (�� 	�"��

��J �� 	
����� 	'/��� ��*� ����� �� K
���� �%��:   
E = ∑ WT HT    (7-11) 

                               T 

L

 :WT �� (����� �&J ��  K
����T 6 HT   2�" 	�"����� 	�� �� 2&
 K
����T ����# -�  3�
� 6�� 	 ��� -
�  4�����  3� ��I��*��.  

  
(�� )7G2(: �� (������ 3
'	
 �� WT I��*�� 3� �� 4���E  

 J ���� (������ 	�
'WT K
���� �� ����� 

0.20  
0.12  
0.12  
0.12  
0.12  
0.05  
0.05  
0.05  
0.05  
0.05  
0.01  
0.01  

	
������� ��H��  
2�0��� Q�5���  

�������  
�
�����  
������  
	��8���  
�*���  

��� ��8��  
���� ��H��	
'  
 ��1��)I�8��(  
�� ��  

3�0��� J��  
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0.05 4���E� 2'�* 

1.00 3� �� (��� 

  

 �
���
� ����
� ���� 
����  

       	���.�� 	�� �� :��� E  	�� �� :�
�� 	��5����� ���
��� :.�*
	�"�����6 �� 3�0��� 2" ��.
��� 2&��   3��0� 2�" 3���� 2����� I��
�

	�
���� ���
���.  
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�� �:  
       ����	
*��� ���*�5��� 2
�" �
� 4����� 	 ��� �6  3��
 2��� 
��
" 	����� ������ (����6  D*�*� 	����� ������ (�5��� D*�* 3�� (/5

	
����� ���� �� ��# 2 ��5�� @����� :150  3� 2��
� )1.5   2���
�
��.
� (�
�����6 500  3� 2��
� )5   ��.
�� 2��
� ( �������6 100 

 3� 2��
� )1 2��
� ��.
� (��� ��8/�6 250  3� 2��
�)2.5   2���
�
 ��.
� (�������6 50  3� 2��
� )0.5  ��.
� 2��
� (	
������� ��H�� .

    ��.
�� 2��
����* 2��.�� �%& ��
�� (1
 2��� 	���.�� 	�� �� D�
�
3� 2��
����.  

  
��
�:  

          	'/��� 3��5���*)7G11 ( 	�"����� 	�� �� �� @
������HT 
R�7��! � �� ��.
� ���
�* 	 ��E�� 4���6 �*   (������� 3
�' �� 
A
��	
 �� WT   (���  �� 4���E�� 	 ��R�)7G2 (   	��� �� �����

2& 7��! � �� ��.
���* 	���.��:  
E = ∑ WT HT 

                           T 

              = 0.12 x150 +0.12 x 5 +0.05 x 1 + 0.12 x 2.5 +0.20 x 0.5  

              = 0.18 + 0.60 +0.05 +0.30 +0.10 

              = 1.23     m Sv 

 2& 7�� 3� �� 	���.�� 	�� �� �� I�1.23 ��.
� 2��
�.  
          

  ��
*���� 3� 2��
� ��
� 3�5��� 3� 2��
���* D������ D��
��
 	�"����� 	�� �� ��HT 2& 	���.�� 	�� �� �����:  

         E= 0.12x150 + 0.12x500 +0.05x100 + 0.12x250 + 0.20x50 

            = 18 + 60 + 5 + 30 + 10 

            = 123 mrem 

        2& 7�� 3� �� 	���.�� 	�� �� �� I�123 3� 2��
�.  
  



  231

   D���
 ������� ��� I� 
 2��� 	�� �� 2& 	���.�� 	�� ���
 ���;���
�� 	
������� ���5���.  

 
 � �� ��   ��� ��
*���� 3�5��� V�5� 	
�� 9��& �� ��# �����

   �� I� 6��
�5�� ����1� @����� ��1� ���
 ����� 	���.�� 	�� ��
 J*1�� 6������ 3�  (5�� ��# 	����� ������ (�5��� �� K��
 @�����

7� 	�!/� ������ $%& . 3�� J��1��� �%& ��� >��
�"  �?
���
� ����
�
 ��@A�
� " (The committed effective dose)  .    ���� 	��8�E� ����

  2���� 	����� ������ 9�� 	���.�� 	�� �� 3!/� ��# I�<� 2��� C��0��
   2���� 	������ ���
���� �� 	.��5��� 	
����� 	���E� �� 	�
*�� D����
    @�E� J��� ���� �������� 	
����� ���
 .��� �� 	�
*�� ������

�!/�� ������ ��� ����� �
*1��7� 	.  
  

     	��� �� :��
' ���
� :.�* 	�!/��� 	���.�� 	�� �� :����
  3��0��� 2" 3���* �� 2������ I��
���� 3�0��� 2" ��.
���* I� 6	���.��

3
����. 
  
7�6�4   ������
� �
���
� ����
�  EC  

The collective effective dose   

        Q��� 2��� 	���.�� ���� �� Q�� � �� ���*� 2&  	��� � 2"
���
� 	
��* . -
�  2" Q��� 2��� 	���.�� 	�� �� ����� I���� ����

	�� �� ���� 	��� ��� ���"� 	���.��  	
��� ��EC     ��� ����*� 2�&
   ���.�� 	����.�� 	�� �� ����� D�� (1�
E     ����"E� ���� 2�"

�
�������6 �� I�:  

EC = E x n 

 L

n ���"E� ��� .  	�
��� �� 	�� �� :����  ���" ���
�* .
 ��.
�(Man.Sievert).  

  
7�7   ����
� ����     D

••••  The dose rate 
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�� ���
� �*��H ��.
���� I��)3���� ����� ��(6D
�����* 6  ��
�����   ���
�� (1
 2��� 	���.�� �� 	�"����� 	�� ��� 	1����� 	�� ��

	�
�� 	
��! ��� (/5 �� F5� �� ��� t  .   	��� �� 	��
' �
�����
�� ���
 �� 	"��� D 
 7�A" �
�� ��! (/5 F5��� ��
�# @���
 2�

	�� �� (���* .	�� �� (���� D
•    2��� 	�� �� 	�
' �& �� ���� 2"

��!�� ��
� 2" ������ �� ����� ��
�� (1

6   �%�& 2" $�� � ���
������ 6�� I�:  

 D  = D
•
 x t    (7-13) 

�� �:  
         ���.�� 	�� �� ���� �%#E� 2" ��* \������ 	 ��  2�& Q�*0.4 

��.
� 2��
� ."D�
�  F5�� 7�/5 J��
 I%�� ��!�� ��  �� ����* �
� (5���*�5     �%�& (�5�� 	����.�� 	�� �� (��� ��� �%# Q�*�E� 2"

����*�5  �&100 ��.
����
�/	���.   
  
  

��
�:  

  D  = D
•
 x t     

 :. ��� (�5�� F5��� �� �� 7* \������ ��!�� ��*�5  (/�5 
�& 7�� Q�*�E�:   

 t  =  D / D
•
 

    = 0.4 x 10
 –3

 / 100 x 10
 –6

 

               =     4      hours 

 

7 �8  ������6
 �<���� �6<�#  
  

1G  	'���� >"�� 	"�8�� ���
� �� >"�� 	"�8� �� /� C��6   ����
���
' ���
� 2&�]�  
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2G  @����� C��6 ��
' ���
� 2& ���7]. 

  
3G  ��� ; �%���]	
������ 	
�'��� @��WE 	
"�� @����� 	"��� �* 

  
4G  �� �& ��HI��6] ]�����* �*��
 C
��  
  
5G  ]	�"����� 	�� �� 2��� �%��6 �� �& ����8?
 2*����� 2 ���
*�� �6 

�� (������J �� �� (������ Q���=�J �� ] K
���� 

  
6G  	�� �� (���� 	���.�� 	�� ��� 	�"����� 	�� �� �� (� C�� 

	
��� �� 	���.�� 	�� ���. 

  
7G  ]	���.��� 	�"����� 	�� �� :�
' ���
� 2& �� 

8G    ���1
 2�����
� ��1� �� K����� �������
��� >"�� D�
�3 
x 10 10 �����
� /	
��86    ��"���� ���� 9�%�0.3  36 1  36 
103. 

  
9G   ��*�� ��1�6 ���  ������# -�
6     ���� �� ����� �%A�"

 ��1���^�*� 6000 I��� 6  ����  ������# >"�� 	"�8� D�
�
 	"��� ���30  3�6 5 ��1��� !��� �� �����.  

���.� 	"����� ��� 	'���� >"�� 	"�8� D�
�.  
  
10G  �� 	
����� ���
���* 	
����� 3
��� D�
��	
��
�:   

              50  ������
�6 200  ��� 2��
�6 5  ���6  
              3 ��
��   3�6 0.7   3� 2��
�6 2 3�  

  
11G  ��� �
� 2"���*�5   	�
����� �;����� 	
�'��� �
�" -�� 	
�����

@�����:   
     	'��* �������
�1G2 3.#.C6  .2 �� 2��
��/	���  
    	�
�* �������
� -'��* 50 ����
� ���/	���  
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    ���  ������# -'��* 4 � ��
� 2��
�/ 	���  
D�
� ���* 	�"����� 	�� �� (��� 	 ��� ��� @���� 2��� ��.


�� 2" L���*�5� ����� -*�.  
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